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Part A: Grammar

Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3),

and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.

1- If you don’t attend the classes, I am afraid you ... to take part in the final exam.
1) won’t be allowed 2) couldn’t be allowed
3) wouldn’t be allowed 4) wouldn’t have been allowed
2- If you had to teach your language to a person who knew nothing at all about your language, ... ?
1) how would you begin 2) how you would begin
3) how did you begin 4) how had you begun
3- “He won’t take part in our project, unless he is paid well.” This sentence can be rewritten as:
1) Provided that he is paid well, he will not take part in our project.
2) As long as he is not paid well, he will not take part in our project.
3) Should he be paid well, he won’t take part in our project.
4) He won’t take part in our project, otherwise he is paid well.
4- ... you wish to see the play, tickets can be purchased at the box office.
1) Should 2) Did 3) Were 4) Had
5- If you ... last night when we arrived, I would have asked you to go with us.
1) didn’t sleep 2) hadn’t slept 3) hadn’t been sleeping  4) wouldn’t be sleeping
6- If I went anywhere, it ... New Zealand; it’s a wonderful country, and I can already speak the language!
1) will be 2) would be 3) would have been 4) had been
7- Olga turned down the volume on the CD player. Otherwise, the neighbors probably ... to complain about the noise.
1) would call 2) wouldn’t call 3) would have called 4) wouldn’t have called
8- Father won’t wake Mary up because it is too early. If it ... .
1) is not early, he will wake her up
2) will not be early, he wakes her up
3) weren’t early, he would wake her up
4) had not been early, he would have woken her up
9- I wouldn’t work for them even if they ... me twice my current salary.
1) pay 2) had paid 3) paid 4) would have paid
10- Were Tom a hard-working student, he ... his exams.

1) will pass 2) will have passed 3) would pass 4) would have passed

N
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Part B: Vocabulary

Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3)

and (4). Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet.

11- Researchers were curious to know what city in my country had the highest ... of population.
1) density 2) scene 3) sample 4) pace
12- Passengers are ... to check in two hours before the flight to facilitate all the required measures in advance.
1) interrupted 2) admired 3) exaggerated 4) requested
13- I had been trying to find the answer to the difficult mathematical problem for about an hour and finally I ... .
1) confirmed 2) reflected 3) succeeded 4) revealed
14- The bodies of cold-blooded animals have the same temperature as their ... , but those of warm-blooded
animals do not.
1) encounters 2) interactions 3) ingredients 4) surroundings
15- Because of the geographical features, the country’s population is ... in an uneven pattern.
1) conveyed 2) indicated 3) distributed 4) compelled
16- If Albert were to visit Rome, the language would be no ... ; he knows Italian.
1) hesitance 2) fluency 3) obstacle 4) offense
17- I’ve looked everywhere for my key and even carried out a ... search of my car, but I can’t find it.
1) exhausted 2) common 3) fragile 4) thorough
18- Nobody likes to sit beside her because she is ... . She talks about everything, even if she knows nothing about them.
1) inactive 2) talkative 3) miserable 4) pleasing
19- The survey found no direct ... between crime and unemployment in our populated city.
1) correctness 2) consciousness 3) conciseness 4) correspondence
20- Not having eaten for an entire day, the animal was ... for food and attacked the farm.
1) vacant 2) concerned 3) desperate 4) desirable
21- The plan has been under consideration for a long time, but I doubt if it will ever come into ... .
1) ease 2) import 3) connection 4) effect
22- The company which my father works for has ... the importance of a well-trained workforce.
1) undergone 2) underrated 3) undercut 4) underachieved
23- Children show ... about everything. They ask questions about any new thing they see and this sometimes makes
their parents angry.
1) curiosity 2) recommendation 3) opportunity 4) hospitality
24- Although most Latin-American countries achieved independence in late 19th century, they remained ... dependent
on other countries.
1) consequently 2) economically 3) heedfully 4) successfully

25- Jobs nowadays are much more ... than they were ten years ago. Now employers can easily fire their employees.

1) incredible 2) insecure 3) downward 4) mysterious
\ /
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Part C: Word Order
Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice on your answer
sheet.

26-

1) Otherwise known as solar winds, shooting stars often fall to Earth dictated by meteorite and Earth rotation in a pattern.
2) Earth rotation, otherwise dictated by solar winds often known as meteorite, fall to Earth in a shooting stars pattern.
3) Shooting stars, otherwise known as meteorites, often fall to Earth in a pattern dictated by solar winds and Earth rotation.

4) Dictated by solar winds and shooting stars, meteorites often fall to Earth in an otherwise pattern of Earth rotation.

1) Overweight people wishing particularly refined sugar, must be cut short most by that of sugar intake to lose weight.
2) Sugar intake, particularly that of refined sugar, must be cut short by most overweight people wishing to lose weight.
3) To lose weight, sugar intake wishing by most refined sugar must be particularly cut short that of overweight people.
4) That sugar intake, particularly refined sugar, must be cut short wishing to lose most weight by overweight people.

28-
1) Each advance in microscopic technique has provided scientists with new perspectives on the function of living
organisms and the nature of matter itself.
2) Scientists with new perspectives on the function has provided each advance of living organisms and the nature of
microscopic technique in matter itself.
3) Living organisms in microscopic technique provided each advance with function of living on new perspectives of
organisms and the nature of matter itself.
4) New perspectives on the nature of living organisms and matter has provided scientists with each advance itself on the
function of microscopic technique.

29-
1) The column circulating of air reaches almost never the peak of its power, even of 250 miles per hour at the core of a
tornado in excess.
2) Even at the peak of its power, the circulating column of air at the core of a tornado almost never reaches in excess of 250
miles per hour.
3) The core of a tornado almost reaches never the circulating column of air, even in excess of its power at the peak of 250
miles per hour.
4) The peak of 250 miles per hour circulating the core of a tornado at its power, reaches never almost in excess of
column of air.

30-
1) Sky gazers of human fascination, a source for untold generations of Mars, has been the fourth planet from the Sun.
2) Mars, the fourth planet from the Sun, has been a source of human fascination for untold generations of sky gazers.
3) Generations of human Sun fascination, a source for the fourth untold planet Mars, has been from the sky gazers.

4) Mars, the fourth planet, has been a source of sky gazers for untold generations of human fascination from the Sun.

N
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Part D: Language Function
Directions: Read the following conversations between two people and answer the questions about the conversations by choosing
one of the choices (1,2,3) or (4). Then mark the correct choice on your answer sheet.

A: We need to reserve a meeting room. But the meeting rooms are almost ...31....
B: Please ...32... to get us a place. You know we cannot reschedule the rehearsal.
A: Sure. And I’ll ...33... sure all the presentation slides are ready on the computer.
B: Good. And don’t forget to give me the rundown on the rehearsal.

A: No problem. Renee and I will ...34....

31-1) booked up 2) taken back 3) filed away 4) made up
32-1) drag your feet 2) put me on 3) do your best 4) get through
33-1) make 2) take 3) have 4) give

34-1) give it up 2) keep it in 3) miss it out 4) see to it

A: Thank you for lending me your bicycle.
B: Oh, it was nothing.
A:No, I ... . It was very nice of you to lend it to me.
35-1) mean it 2) would rather not
3) had better do it 4) want it
Karen: Hey Sandy. ...36...?
Sandy: Mary lost my history notes. We have an exam tomorrow and I am ...37... . I feel like calling her up and
telling her how angry I am.
Karen: Wait! You’d better ...38... before you do. Give yourself a chance to calm down.
Sandy: I suppose I’ll be all right after a while, but right now ’'m so mad I...39....

Karen: You’re right. She has to ...40... the fact that she has caused you a lot of trouble.

36- 1) What’s up? 2) Sounds great! 3) I’d love it! 4) Tell my why?
37-1) easing up 2) flipping out 3) digging in 4) hanging on

38-1) fit the bill 2) go it alone 3) count to ten 4) get the axe

39-1) see red 2) am in the black 3) have a green thumb  4) am yellow-bellied
40-1) reach out to 2) look up to 3) face up to 4) hold on to

N
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Part E: Cloze Test

Directions: Read the following passage and decide which choice (1,2,3) or (4) best fits each space. Then mark the correct choice
on your answer sheet.

41-1) dropped into
42-1) sets

Hypnosis is a state of human consciousness involving focused attention and reduced peripheral awareness
and an enhanced capacity to respond to suggestion. I was doing some research into the use of hypnosis in
business training when I (41)... the website of a hypnotist who (42)... courses in something called “abundance
training” or “learning to accumulate wealth through hypnosis”. I was, (43)..., intrigued and so I signed up for
a workshop that was (44)... to be held in a city centre hotel.

The hypnotist began by explaining that people could be surprisingly slow to take advantage of money-
making opportunities. (45)... her point, she revealed the first page of her flipchart. Attached were a number of
banknotes below the heading: “Free money”. The room fell silent. Then one participant rose from his seat. 1
assumed he (46)... the room, but instead he stopped at the flipchart and pocketed a note. For a moment,
nobody dared (47)... him; then there was a stampede.

(48)... the actual hypnosis. I had always imagined it would be a vivid, dreamlike experience. In the event, it
felt more like (49)... breathing for relaxation, or (50)... attentively with your eyes shut. Once under hypnosis, I
heard a voice telling me to (51)... the obstacles that prevented me achieving abundance, and I climbed over the
wall (52)... appeared before me. It was a terrific feeling. Released from my trance, I left the hotel on a (53)...
of optimism. A stern letter from the bank awaited me at home, (54)..., reminding me that once again I (55)...
my credit-card limit. I realized that “achieving abundance” might take me a while.

4) checked up

2) tripped over 3) came across

2) deals 3) guides 4) runs

43-1) don’t make me say it again
3) you can say that again

44-1) shortly 2) currently

45-1) To illustrate 2) Mlustrating

46- 1) will leave 2) was going to leave

47-1) copies 2) copying

48- 1) Next came 2) Came next

49- 1) strong 2) soft
50-1) listen 2) listened

51-1) triumph 2) overcome

52-1) in which 2) by which
53-1) wave 2) stream
54-1) although 2) instead

55-1) would reach 2) will reach

2) to say the least
4) whatever you say
3) briskly

3) By illustrating
3) has left

3) to be copying
3) It came next
3) deep

3) to listen

3) outdo

3) that

3) range

3) hence

3) had reached

4) eventually
4) To illustrating
4) had left

4) to copy

4) It next came
4) heavy

4) listening

4) defeat

4) through that
4) drift

4) however

4) have reached

N
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Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Answer the questions about the passages by choosing the best
choice (1,2,3) or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1

By far the most important United States export product in the eighteenth and nineteenth centuries was
cotton, favored by the European textile industry over flax or wool because it was easy to process and soft to tile
touch. Mechanization of spinning and weaving allowed significant centralization and expansion in the textile
industry during this period, and at the same time the demand for cotton increased dramatically. American
producers were able to meet this demand largely because of tile invention of the cotton gin by Eli Whitney in
1793. Cotton could be grown throughout the South, but separating the fiber — or lint — from the seed was a
laborious process. Sea island cotton was relatively easy to process by hand, because its fibers were long and
seeds were concentrated at the base of the flower, but it demanded a long growing season, available only along
the nation's eastern seacoast. Short-staple cotton required a much shorter growing season, but the shortness of
the fibers and their mixture with seeds meant that a worker could hand-process only about one pound per day.
Whitney's gin was a hand-powered machine with revolving drums and metal teeth to pull cotton fibers away
from seeds. Using the gin, a worker could produce up to 50 pounds of lint a day. The later development of
larger gins, powered by horses, water, or steam, multiplied productivity further.

The interaction of improved processing and high demand led to the rapid spread of the cultivation of cotton
and to a surge in production. It became the main American export, dwarfing all others. In 1802, cotton
composed 14 percent of total American exports by value. Cotton had a 36 percent share by 1810 and over a 50
percent share in 1830. In 1860, 61 percent of the value of American exports was represented by cotton. In
contrast, wheat and wheat flour composed only 6 percent of the value of American exports in that year.
Clearly, cotton was king in the trade of the young republic. The growing market for cotton and other
American agricultural products led to an unprecedented expansion of agricultural settlement, mostly in the
eastern half of the United States-west of the Appalachian Mountains and east of the Mississippi River.

56- The main point of the passage is that the eighteenth and nineteenth centuries were a time when ... .
1) the European textile industry increased its demand for American export products

2) mechanization of spinning and weaving dramatically changed the textile industry

3) cotton became a profitable crop but was still time-consuming to process

4) cotton became the most important American export product

N
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57- The word "favored" is closest in meaning to ... .
1) preferred 2) recommended 3) imported 4) included

58- All of the following are mentioned in the passage as reasons for the increased demand for cotton EXCEPT... .
1) cotton's softness 2) cotton's ease of processing
3) a shortage of flax and wool 4) the growth that occurred in the textile industry

59- According to the passage, one advantage of sea island cotton was its ... .
1) abundance of seeds 2) long fibers
3) long growing season 4) adaptability to different climates

60- Which of the following can be inferred from the passage about cotton production in the United States after the

introduction of Whitney's cotton gin?
1) More cotton came from sea island cotton plants than before.
2) More cotton came from short-staple cotton plants than before.
3) Most cotton produced was sold domestically.
4) Most cotton produced was exported to European countries.
PASSAGE 2

The origins of nest-building remain obscure, but current observation of nest-building activities provide
evidence of their evolution. Clues to this evolutionary process can be found in the activities of play and in the
behavior and movements of birds during mating, such as incessant pulling at strips of vegetation or scraping of
the soil. During the early days of the reproductive cycle, the birds seem only to play with the building materials.
In preparation for mating, they engage in activities that resemble nest-building, and continue these activities
throughout and even after the mating cycle. Effective attempts at construction occur only after mating.

Although nest-building is an instinctive ability, there is considerable adaptability in both site selection and
use of materials, especially with those species which build quite elaborate constructions. Furthermore, some
element of learning is often evident since younger birds do not build as well as their practiced elders. Young
ravens, for example, first attempt to build with sticks of quite unsuitable size, while a jackdaw's first nest
includes virtually any movable object. The novelist John Steinbeck recorded the contents of a young osprey
nest built in his garden, which included three shirts, a bath towel, and one arrow.

Birds also display remarkable behavior in collecting building materials. Crows have been seen to tear off
stout green twigs, and sparrowhawks will dive purposefully onto a branch until it snaps and then hang upside
down to break it off. Golden eagles, over generations of work, construct enormous nests. One of these,
examined after it had been dislodged by high winds, weighed almost two tons and included foundation

branches almost two meters long. The carrying capacity of the eagles, however, is only relative to their size and

most birds are able to carry an extra load of just over twenty percent of their body weight.
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61- The word "obscure" in line 1 is closest in meaning to ... .
1) interesting 2) unclear 3) imperfect 4) complex
62- According to the passage, which of the following activities is characteristic of the early part of the reproductive
cycle of birds?
1) Selecting a mate 2) Collecting nest-building materials
3) Playing with nest-building materials 4) Building a nest
63- The novelist John Steinbeck is mentioned in the passage because he ... .
1) conducted a scientific study on the behavior of ospreys
2) was the first to describe where ospreys built their nests
3) described the materials ospreys can use to build their nests
4) compared the size of osprey nests with the nests of other species
64- Which of the following birds are mentioned as those that build nests that include unusual objects?
1) Ravens 2) Ospreys 3) Crows 4) Sparrowhawks

65- According to the passage, when gathering materials to build their nests, sparrowhawks do which of the following?

1) Hang upside down 2) Select only green twigs
3) Use objects blowing in the wind 4) Collect more branches than necessary
PASSAGE 3

A survey is a study, generally in the form of an interview or a questionnaire, that provides information
concerning how people think and act. In the United States, the best-known surveys are the Gallup poll and the
Harris poll. As anyone who watches the news during presidential campaigns knows, these polls have become
an important part of political life in the United States.

North Americans are familiar with the many person-on-the-street interviews on local television news shows.
While such interviews can be highly entertaining, they are not necessarily an accurate indication of public
opinion. First, they reflect the opinions of only those people who appear at a certain location. Thus, such
samples can be biased in favor of commuters, middle-class shoppers, or factory workers, depending on which
area the newspeople select. Second, television interviews tend to attract outgoing people who are willing to
appear on the air, while they frighten away others who may feel intimidated by a camera. A survey must be

based on a precise, representative sampling if it is to genuinely reflect a broad range of the population.
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In preparing to conduct a survey, sociologists must exercise great care in the wording of questions. An
effective survey question must be simple and clear enough for people to understand it. It must also be specific
enough so that there are no problems in interpreting the results. Even questions that are less structured must
be carefully phrased in order to elicit the type of information desired. Surveys can be indispensable sources of
information, but only if the sampling is done properly and the questions are worded accurately.

There are two main forms of surveys: the interview and the questionnaire. Each of these forms of survey
research has its advantages. An interviewer can obtain a high response rate because people find it more
difficult to turn down a personal request for an interview than to throw away a written questionnaire. In
addition, an interviewer can go beyond written questions and probe for a subject's underlying feelings and
reasons. However, questionnaires have the advantage of being cheaper and more consistent.

66- What does the passage mainly discuss?
1) The history of surveys in North America
2) The principles of conducting surveys
3) Problems associated with interpreting surveys
4) The importance of polls in American political life
67- The word "they" in the passage refers to ... .
1) North Americans 2) news shows 3) interviews 4) opinions
68- According to the passage, the main disadvantage of person-on-the-street interviews is that they ... .
1) are not based on a representative sampling 2) are used only on television
3) are not carefully worded 4) reflect political opinions
69- According to paragraph 3, which of the following is most important for an effective survey?
1) A high number of respondents
2) Carefully worded questions
3) An interviewer's ability to measure respondents' feelings
4) A sociologist who is able to interpret the results
70- The word “elicit” in the passage is closest in meaning to ... .

1) compose 2) rule out 3) predict 4) bring out
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